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Consider a spinner that, after a spin, will point to a number between zero and 1 with “uniform
probability”. Determine the probability: P(18 = X =1124). T — —_—
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12. If a population has a standard deviation o , then the standard deviation of the mean of 100 randomly

H_ selected items from this population is SASAS -
| 2. 0 /100
b o be € Qoo un
c. o/l10
; 5 wed 8
f. none of these hﬂ.\,g(; 'Fﬂ‘f LQYMUJ{QJ

15. Power companies kill trees growing near their lines to avoid power failures due to falling limbs in
storms. Applying a chemical to slow the growth of the trees is cheaper than trimming, but the
chemical kills some of the trees. Suppose that one such chemical would kill 15% of sycamore trees.
The power company tests the chemical on 200 sycamores. Consider these a SRS from the population
of all sycamore trees. What is the probability that no more than 32 trees are killed?

a. 0.0571

b. 0.6540

c. 0.3460 P Z 3 ]
d. 0.1598 ( }( - 3—

e

. none of these
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A< (1=,18)

Wy =215 bp =\ "an

Ny I'\"\Cd td 'F (‘lDDUDOU] 3’1/0 \S‘J {.Iffl-—.lf) )

Public Page 1 40



6. True or False: On a statistics exam, Joe’s score was at the 20" percentile and John’s score was at the
40™ percentile; thus, we can say that John’s score was twice Joe’s.
a. True
b. False
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11. Find ¢ such that P(Z > ¢)=0.3859
a. -0.29

b. 0.35

c. -0.35

d 029

smen A thana
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12. The heights of American men aged 18 to 24
are approximately normally distributed with
mean 68 inches and standard deviation 2.5
inches. Only about 5% of young men have
heights above what height?

Ny Nof M (l*-.o'sJ 69, Q.‘S)

OS2 bF5(y & 13 1SS
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4.2

6. The length of time needed to complete a
certain test is normally distributed with mean 57
minutes and standard deviation 8 minutes.

a. What is the relative frequency of people
who take between 49 and 65 minutes to
complete  the test? Sketch  the
distribution and shade in the area in
question.

b. Find the interval that contains the middle
95% of completion times for all people
taking the test.

/M

4.4

3. A tire manufacturer claims that its tires will
last an average of 40,000 miles with a standard
deviation of 3,000 miles. A sample of 49 tires
was taken, and the average lifetime in miles was
recorded.

a. What is the probability that the average d/

lifetime of the tires sampled was more
than 39,5007

b. What is the probability that the average“(‘

lifetime of the tires sampled was equal to
39,5007

¢. What is the probability that the averagﬁé"

lifetime of the tires sampled was less than
39,5007

Pl < 3QSUD)-hnrmakdf( Jomo, 395D dowoo,

normal odf ( ID'FJ] htgh Mmean lgcl.e.\:\)
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20. Suppose X is a normal distribution with
}MZE. Find tht]: following: \L LAR‘
a. PlX <230
Ou -
b. F(IE{]{X{MS]‘% (UARAN ‘}.- é[l} b= 8 2

e. P(X>190)
d. Find e such that P(X{c) 0.0344 1&-‘ tnv Nhlr ™ [rn 3 l»l LJ J 3‘10 33 3-]
<e Find ¢ such that P X:h-c] 0.7486 % l‘-.nfm N —

1 ’i“
£
W nde N 0N AUINE

> gqnorm(1-.7486,210,32)
[1] 188.5571
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Question 4

Consider a uniform density curve defined from x = 0 to x = 9. What percent of observations fall between 1 and 67

Pl<x<p)= Yo (5) =54
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& S- Question 12

At a college the scores on the chemistry final exam are approximately normally distributed, with a mean of 75 and a standard deviation of
15. The scores on the calculus final are also approximately normally distributed, with a mean of 83 and a standard deviation of 13. A
student scored 82 on the chemistry final and 80 on the calculus final. Relative to the students in each respective class, in which subject did

R Lhem. =715 &, =I5
< 20 Lol w, =83 6,13

Ctandar di 70

- 1< 0 -3
Chem 1< Cale 15

6T ~.23)

berter on Clhem .
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10. Find P(-12<Z<19) &€

fnp oW

nufmﬂl C‘H

0.9713
0.8562
0.8020
0.7659

none of these f\ﬁ |‘ m

N
11. Find ¢ such that P(Z > ¢)=0.3859 <« in

PROEOR

-0.29 41» AN

0.35

-0.35

0.29

none of these
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6. Suppose a density curve is defined by the -L
funetion fi{x)=2-2x for all values between - .
£=0 to x=1. Find the median of this density 4 A A< 7_('](1\ = | v/
curve. ¥ L-ﬁ‘!?
3= X TR«
9 .t
% (
'Wl
bﬁj‘g_ = \-X

-P‘_\___—_
L | = (1-x(2-9x)
R | . Ny - AX
) | = Q- %x

O = dx® -]
0 =(ax-1Yax —ﬂ
M= VL
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Question 6
You did not answer the question. £ Nn=a>
A manufacturer of matches randomly and independently puts 23 matches in each box of matches 1] [RALMLAL U.l

produced. The company knows that one-tenth of 8 percent of the matches are flawed. What is the
probability that a matchbox will have one or fewer matches with a flaw?

?[ Q\&w{d} N “l% [D%\ :«'DD% =D

P ( X £ 1) = bmum_r:_d} (J%:Dmam

4 - 09535
L

ot (=)

Feuee fan 35 P (1£2)
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Question 10

You did not answer the question.

A fish tank in a pet store has 23 fish in it. 8 are orange and 15 are white. Determine the probability that
if we select 4 fish from the tank, at least 2 will be white.

N-92% or. [Swh.
Ql'.\e.t:.kﬂcﬁ 4 o= n(g} S Cu,

1% (u_?r last 2 M}

< D[ i) o P3N PLY Photn)

- l‘SCZ 9 t?. 15‘63 ' qo-'l y;Cq ‘ (gf—n)
g P2 A
2361

‘2.%C"'l 2384
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